
PURCHASE DATE MODEL NO. SERIAL NUMBER

DEALER

HD SPRING LOADED
TINE CULTIVATOR

BE-FCXS

OPERATIONS & PARTS MANUAL

FOR MODELS:
•	BE-FC7S
•	BE-FC9S
•	BE-FC11S



EXPLODED VIEW & PARTS LIST



BE-FCxS USER MANUAL     3

DESCRIPTION PART CODE QTY

FKSLOEHD-9 FKSLOEHD-11 FKSLOEHD-13 FKSLOEHD-15 FKSLOEHD-9 FKSLOEHD-11 FKSLOEHD-13 FKSLOEHD-15

1 Frame Assembly  KSLOEHD-502 FKSLOEHD-504 FKSLOEHD-506 FKSLOEHD-508 1

2 3 Point Linkage 
Assembly FKSLOEHD-520 FKSLOEHD-521 1

3 Big Pair Tine Assembly FKSLOEHD-512 5 6 7 8

4 Small Pair Tine 
Assembly FKSLOEHD-516 4 5 6 7

5 Hitch Pin 10020024 10020019 2

6 Spring Washer (M25) 10270007 2

7 Nylock Nut (25mm) 1080008 2

8 Hex. Bolt (M16x50x2P) 10260016 2

9 Spring Washer (M16) 10270005 2

10 Nylock Nut (M16x2P) 10280005 2

11 Hex. Bolt 
(M12x32x1.75P) 10260060 36 44 52 60

12 Nylock Nut (M12x1.75P) 10280025 36 44 52 60

13 Spring Washer (M12) 10270003 36 44 52 60

14 Lynch Pin 10020022 2



4     BE-FCxS USER MANUAL

BIG PAIR TINE ASSEMBLY

REF. PART NUMBER DESCRIPTION QTY

1 Big Pair FKSLOEHD-513 1

2 Tine Assembly (25mm) FKSLOEHD-519 1

3 Spring Coil (28.5 Coil) FKSLOEHD-029 2

4 Shovel FKSLOEHD-030 1

5 Hex. Bolt (M18x1.5P) 10260083 1

6 Spring Washer (M18) 10270006 1

7 Nylock Nut (M18x1.5P) 10280006 1

8 Shovel Bolt (7/16x2.5” BSW) 10260137 2

9 Hex. Plain Nut (7/16” BSW) 10280033 2

10 Tine Bush 10070006 1



BE-FCxS USER MANUAL     5

SMALL PAIR TINE ASSEMBLY

REF. PART NUMBER DESCRIPTION QTY

1 Small Pair (25mm) FKSLOEHD-517 1

2 Tine Assembly (25mm) FKSLOEHD-519 1

3 Spring Coil (28.5 Coil) FKSLOEHD-029 2

4 Shovel FKSLOEHD-030 1

5 Hex. Bolt (M18x65x1.5P) 10260083 1

6 Spring Washer (M18) 10270006 1

7 Nylock Nut (M18x1.5P) 10280006 1

8 Hex. Plain Nut (7/16” BSW) 10280033 2

9 Shovel Bolt (7/16x2.5” BSW) 10260137 2

10 Tine Bush 10070006 1



6     BE-FCxS USER MANUAL



BE-FCxS USER MANUAL     7



8     BE-FCxS USER MANUAL

PHONE: 604-850-7770
FAX: 604-850-7774

        TOLL FREE PHONE: 1-877-588-3311
TOLL FREE FAX: 1-800-665-7334

BRABEREQ.COM
WGSALES@BRABEREQ.COM


